W E0Z BRI (BKEFAZEGREAS)
WiREREE (X)=(1-A/F)*{ C/a+D/(a+b)+E/(a+b/2) }
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21K Hp CLFET-HF- LW
WRERIE 1.0 0.21 0.79
WRREDE 1.0 0.41 0.59
HBIEEESIRA A ¥3,103,633 ¥665,182
5523 A B (a+b) B 2,668 703
WaEEOHEBRE c ¥2,074,667 ¥444,650
FRE&ERE D ¥1,723,159 ¥369,314
FAEICHULEIRRE E ¥8,929,233 ¥3,650,686
U TE F | ¥12,727,059 ¥4,464,651
[ C-aF) = [ 0756139046
BlicE ) a 2,504 537
BEE b 164 166
C/a ¥829 ¥829
D/(atb) ¥646 ¥526
E/(a+b/2) ¥3453 ¥5891
| #@EIALLNEIETAEE X | ¥3,726 | ¥5479 |xB%-E#4RALL

@ LiEDiEiEE 1 AHENABZEELEC, BE - E5%0F REIGH 5.
ZULBWEERE (A% ETETD,
WEEDLEEREIIA  aX = R¥a*xG + Y*a*xG*Q
=>HHNEE G=X/(R+Y*Q)
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BHEEICHTIELRIEOL (EFR) Q ¥HH/vA% 3.2
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Wi E R AEIE (B Y e 029
WeifE EIHEE X ¥5479
R+Y*Q 1.63
H&N%E | G ¥3,364] >¥2500
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